The Association of Corporate Treasurers CPD Entry Test


Treasury organisation and influence – Worked Solutions
Question 1
You have just been appointed Treasurer for a UK-based manufacturing company that has recently purchased a competitor, also based in the UK.  The CFO has asked you to summarise the most important issues in deciding whether to centralise treasury operations. Below is a list of issues which could be discussed.

A
Potential scale benefits.

B
Control of treasury activities.

C
Taxation issues.

D
Exposure monitoring.

E
Alignment of treasury to the needs of the combined business.

Which one of the following would you select for discussion? 

(a)
ABCD


(b)
ABCE


(c)
ABDE


(d)
ACDE


(e)
Don’t know

Answer 

The right answer is      (c)
ABDE.

All of the issues are relevant except for taxation.  Unusually, taxation is not relevant here.  This is because both companies are based in the UK and both have UK treasuries.  If either treasury was outside the UK it would be a different matter!

Manual VI Ch 12, Manual IX Ch 3

Question 2
Recently there has been a major exercise throughout your group to improve customer responsiveness.  This exercise has now been extended to include the ‘internal’ functions.

From the following list, which one would you select as “customers” of the Treasury?

(a)
Banks and financial counterparties.


(b)
Subsidiaries and other Head Office functions.


(c)
IT suppliers.


(d)
Internal and external auditors.


(e)
Don’t know.

Answer 

The right answer is
(b)
Subsidiaries and other Head Office functions.

The key to the answer is to ask why the treasury is there.  It exists to service the rest of the group, to facilitate and enhance their operations.  While banks and other counterparties are necessary partners, and they are needed in the long term, they are the means not the ends.  Keeping internal and external auditors happy is often thought to be the object of the treasury exercise, but this is not, in fact, the case.
Manual VI Ch 12, Manual IX Ch 3

Question 3
Your chairman has been talking to an old colleague who is a board member of another multinational organisation. He tells your chairman that their treasury has an advisory role. 

Below is a list of treasury activities.

A
Perform intercompany banking transactions with subsidiaries.

B
Determine treasury policies and objectives.

C
Provide information and advice to subsidiaries.

D
Manage group-wide cash pooling.

E
Meet head office treasury requirements.

Which one of the following would describe a treasury with an advisory role?

(a)
BCE


(b)
BCD


(c)
ABD


(d)
ADE


(e)
Don’t know

Answer 

The right answer is     (a)
BCE.

An ‘advisory’ treasury acts directly as the treasury for the head office, but only in an advisory capacity for the operating companies of the group.  It will not, therefore, get involved in cash pooling or intercompany banking transactions.

Manual VI Ch 12, Manual IX Ch 3

Question 4
Your CFO has been to a conference and has heard about outsourcing of treasury activities to an outsource provider. Below is a list of treasury activities. 

A
Back office confirmations and settlements.

B
Covenant testing.

C
Exposure netting.

D
Treasury accounting.


E
Cash pooling.


F
Treasury policy establishment.

Which one of the combinations below are most likely to contribute to shareholder value by being outsourced?

(a)
ABDE


(b)
BCDE


(c)
CDEF


(d)
ACDE


(e)
Don’t know

Answer 

The right answer is      (d)
ACDE

Covenant testing involves intimate knowledge of all loan documentation and, possibly, forecasts of individual company performance.  Treasury policy establishment is a core function of the company management, it reflects their expectations of their business, their attitude to risk and their management philosophy.

Manual VI Ch 12, Manual IX Ch 3

Question 5
You are treasurer of a large industrial group with subsidiaries in several countries. In each geographic region one company specialises in dealing with external customers. All of the external sales of other subsidiaries are invoiced in their own currency to this specialist company.  All of the currency risk is therefore concentrated in this specialist company.  The location of the company is determined by the various taxation arrangements such that there is the least possible leakage of funds flowing into and out of the company.
Which of the following would describe the specialist company?

(a) re-invoicing centre

(b) netting centre

(c) mixer company

(d) export finance company

(e) don’t know

Answer

The right answer is (a) re-invoicing centre
A re-invoicing centre re-issues invoices and makes payments against invoices received.  It therefore assumes all of the risk of this activity.  A netting centre’s purpose is different in that it is not there to re-route invoices and payments or assume foreign exchange risk, but to net off a multitude of payments to a smaller number of net payments.
A mixer company is intended to mix dividends of different levels of tax to achieve an improved ability to utilise tax credits.  An export finance company is intended to provide internal factoring or invoice discounting.

Manual IX Ch 3

Question 6  
Your treasury is characterised by its risk averse, passive hedging.
Which of the following most closely reflects this situation?

(a) You hedge all of the risks that you can as soon as the risk is apparent
(b) You hedge at least 85% of the risks within a specific time limit

(c) You hedge at least 65% of all risks at any one time

(d) You manage each hedging requirement on a case-by-case basis

(e) don’t know

Answer

The right answer is (a) You hedge all of the risks that you can as soon as the risk is apparent

Passive hedging refers to the process of always hedging where possible.
Manual IX Ch 3 and 4

Question 7

It has been suggested that Treasury organisation is determined by three main factors: ‘Role’, ‘Response to Risk’ and ‘Authority’. 

Your treasury is deciding whether to remain decentralised or to develop a central group treasury.  Which of the three factors is likely to determine the decision?

(a) Role

(b) Response to Risk

(c) Authority

(d) None of the above

(e) don’t know

Answer

The right answer is (c) Authority
As groups become larger authority has tended to become more centralised in the interests of financial efficiency and control – at the expense of local motivation.

Manual IX Ch 3.4

Question 8


The organisation of your group is highly decentralised.  Subsidiary’s treasuries take most treasury decisions and the group treasury provides as many banking services as are required.  Group treasury is, however, the only counterparty with whom the subsidiaries can deal. 

Which of the following roles is described above?

(a) Advisory role

(b) Agency role

(c) In-house bank

(d) Entrepreneurial role

(e) don’t know

Answer

The right answer is (d) In-house bank

The agency role keeps control of treasury at local level but requires that all transactions are undertaken through the central treasury which will then perform transactions on behalf of the subsidiaries.  An in-house bank role exists where the treasury functions as the sole bank with which subsidiaries can deal  The centre will then transact with external banks depending on the group’s net position.  The advisory role exists when the group treasury acts as a central source for financial information but external transactions are undertaken by the subsidiaries themselves.

Manual IX Ch 3.4

Question 9

You are concerned to understand fully the currency risks in your group and, to that end, you have decided to draw up a list of the other group functions with whom you need to develop good working relationships.  Your group is a major supplier of capital goods around the world, generating much of your business from your reputation as a ‘British’ supplier.  To preserve this you source almost all of your supplies within the UK.

Which of the following group functions would you regard as the most important?

(a) group econometrics

(b) group financial control

(c) group sales

(d) group purchasing

(e) don’t know

Answer

The right answer is (c) group sales

Group econometrics might be able to help you quantify the risks that you already know about, but only group sales can help you to understand the way in which sales / cash flows may be affected by changes in exchange rates – especially relating to the distinct markets for new capital goods and spare parts.

Manual V Ch 14, Man XIII, Ch 5

Question 10

Shared service centres were originally established for their potential for reducing cost.  However, in the few years up to 2005 developments meant that the benefits for treasurers changed.
Which of the following describes the major benefit of a shared service centre?

(a) tighter controls

(b) more reliable reporting

(c) single source for working capital data

(d) all of the above

(e) don’t know

Answer

The right answer is (d) all of the above

The Treasurer reported in September 2005 that all of the factors mentioned, as well as the potential for dealing with fewer banks through a single interface, were quoted as benefits of SSCs.
The Treasurer September 2005, A Shared Service by Michelle Perry.
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